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Introduction



Welcome to the Cambridge IGCSE® Business Studies Study and Revision Guide. This book has been written to help you revise everything you need to know for your Business Studies examinations, alongside the Cambridge IGCSE Business Studies Fourth Edition textbook. Following the Business Studies syllabus, it covers all the key content as well as sample questions and answers, case studies and practice questions to help you learn how to answer questions and to check your understanding.


How to use this book


Key objectives


The key points covered in the chapter


Examiner tips


Advice to help you give the perfect answer






	Common errors

	Mistakes that students often make, and how to avoid them
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Definitions of the key terms you need to know
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Sample questions


Exam-style questions for you to think about
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Sample student answers to see how the question might be answered
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Examiner’s comments


Feedback from an examiner showing what was good, and what could be improved in the student answers
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Exam-style questions


Paper 1 style examination questions for you to try to see what you have learned
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Case studies


End of section case studies to practice the skills needed for the Paper 2 exam
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Answers


Outline answers to the Practice exam questions and the Case Study questions


Exam tips


Make sure you apply your answers to the business outlined at the start of each question in Paper 1 and the data response context in Paper 2. If your answer could be suitable for any business then you probably have not applied and you will not gain all of the available marks. Try underlining the key words about the business outlined: Is it a sole trader or partnership for example? What does it sell or what service does it provide? What are the problems it is facing or what decisions does it have to make? How many employees does it have? Are they skilled? There will be information provided about the business and you should use it to help answer the questions.


Make sure you explain – or analyse – your answer for questions (c), (d), and (e) on Paper 1 and all questions on Paper 2. Short statements may not gain you all of the available marks.


The (e) questions on Paper 1 and the (b) questions on Paper 2 require a judgement to be made. On question e) on Paper 1 you will need to evaluate and show judgment. With question b) tasks on Paper 2, make sure that you weigh up each option before deciding which is the best. Just stating which option you think is the best one will not gain you the evaluation marks – you must give a reason for this choice. With the b) questions on Paper 2 you should also explain why you rejected the other options if you are to gain all the available marks.


Karen Borrington and Peter Stimpson





1 Business activity
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Key objectives


The objectives of this chapter are to revise:





•  what the economic problem means



•  the difference between wants and needs



•  the scarcity of resources and why this leads to opportunity cost



•  economic activity and the importance of specialisation



•  the nature and purpose of business activity



•  how businesses can increase added value.
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Key definitions






	Term

	Definition






	A need

	A good or service essential for living.






	A want

	A good or service that people would like to have, but which is not essential for living.






	Economic problem

	Unlimited wants but limited resources – this creates scarcity.






	Scarcity

	Lack of sufficient products to satisfy total wants of population.






	Opportunity cost

	The next best item given up by choosing another.






	Factors of production

	Resources needed to produce goods and services – land, labour, capital and enterprise.






	Business

	An organisation that combines factors of production to make goods and services to satisfy people’s wants and needs.






	Specialisation

	People and businesses concentrate on what they are best at.






	Division of labour

	Production is split into separate tasks and each worker specialises in one task.






	Added value

	The difference between a product’s selling price and the cost of bought in materials.







Business activity
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Common errors






	Error

	Why it is wrong






	‘More money will solve the economic problem.’

	The economic problem is caused by scarce resources rather than lack of money.






	‘Division of labour means that each worker performs many different tasks.’

	Division of labour leads to specialisation of labour – workers concentrate on one task.






	‘Added value is the same as profit.’

	Added value is not the same as profit – other costs have to be subtracted from added value to obtain the profit figure.







Sample questions and answers


The ARC business produces and sells cosmetics. These are sold in supermarkets. It uses modern capital equipment allowing division of labour so workers can specialise. Several workers have left ARC recently. The Bella perfume, ARC’s best-selling product, sells for $7 a bottle. Each bottle contains materials that ARC buys in for $2. ARC’s managers want to increase added value. The Marketing Manager thinks a price increase is the best way to do this.





1  Identify and explain one advantage and one disadvantage to ARC of division of labour.


[6]





Student’s answer
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Division of labour means that workers and machines specialise in particular tasks [K] – such as filling perfume bottles. [Ap] This specialisation improves efficiency as workers can now produce more in the same time. [An]


Workers can become bored if they just do one task all the time. [K] This could be the reason why several workers have left ARC recently. [Ap] Boredom at work can lead to low motivation and this is one reason why workers can leave a job, increasing recruitment costs for ARC. [An]
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Examiner’s comments


Good start. Student defines division of labour and also applies an advantage to ARC and explains (analyses) it. The disadvantage is also applied to ARC and well explained. Good answer. Full marks.





2  Do you agree with the Marketing Manager that the best way to increase added value for the Bella perfume is to increase price? Explain your answer.


[6]





Student’s answer
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Added value is the difference between the selling price and the cost of bought in materials. [K] In the case of the Bella perfume it is $5 per bottle. [Ap] A price increase to, say, $9 would raise the added value to $7 a bottle. If sales and other costs stayed the same, ARC’s profit would increase. [An] However, the consumers might buy less Bella than before – especially as supermarkets will sell a large number of competing perfumes. If sales fall, profits could decrease too.


A better idea might be to reduce costs of bought in materials. ARC could use a plastic bottle and not a glass one. Lower material costs will also increase added value but consumers might think the quality has fallen and buy less Bella than before. [An] However, I think that this is better than raising prices as ARC will have many competitors. [Ev] If ARC raises prices then demand will fall but it might not fall if the business reduces costs making this the better option. [Ev]
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Examiner’s comments


Another good start – there is a clear definition and worked examples that are applied to ARC. Analysis of the possible effect of raising price and analysis of the possible effect of using cheaper materials are both included.


This answer shows very good understanding of added value and some worked examples. Both ways of increasing added value are explained and a clear final judgement is made. Full marks.


(NB: There are more marks indicated in this answer to show different ways of achieving application and analysis.)
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Examiner’s tips





•  Start each answer with a definition or explanation of a key term if possible.



•  If the case study contains figures, try to use these at least once in your answer.
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Exam-style questions


BB is a bakery business that produces bread and cakes. It specialises in high quality cakes for weddings and birthdays. There is little division of labour used. A typical wedding cake is sold for $50 using bought in ingredients costing $15. Bashir, BB’s owner, wants to increase added value and thinks the best way to do this is to buy in cheaper ingredients for the bread and cakes his business produces.





a) What is meant by ‘division of labour’?


[2]



b) Calculate the added value of each wedding cake.


[2]



c) Identify and explain two factors of production that BB needs.


[4]



d) Identify and explain one benefit and one drawback to BB of specialising in high quality cakes.


[6]



e) Bashir thinks that the best way for BB to increase added value is to buy in cheaper ingredients. Do you agree with him? Justify your answer.


[6]
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2 Classification of businesses
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Key objectives


The objectives of this chapter are to revise:





•  the differences between the three sectors of business activity



•  the reasons why these sectors vary in importance: between countries and over time



•  the differences between the private sector and public sector in mixed economies



•  arguments for and against privatisation.
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Key definitions






	Term

	Definition






	Primary sector

	Businesses that extract and use natural resources to produce raw materials.






	Secondary sector

	Businesses that manufacture goods using the raw materials provided by the primary sector.






	Tertiary sector

	Businesses that provide services to consumers and other firms.






	Deindustrialisation

	Decline in the importance of secondary, manufacturing industry.






	Mixed economy

	This has both private sector businesses and public sector businesses.






	Private sector

	Businesses owned by people, not the government/state.






	Public sector

	Businesses owned by the government/state.






	Privatisation

	The sale of public sector businesses to the private sector.







Classification of businesses summary


Businesses can operate in the primary, secondary and tertiary sectors.
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Common errors






	Error

	Why it is wrong






	‘Businesses can only operate in one business sector.’

	Some businesses operate in all three sectors, e.g. an oil company that extracts oil, refines it and retails petrol to consumers.






	‘Organisations in the public sector of an economy include public limited companies.’

	Public limited companies (see Chapter 4) are in the private sector of the economy.







Sample questions and answers


Country X used to be a major producer of agricultural products and timber. In recent years the government of country X has encouraged the construction of large industrial estates and these have reduced land available for farming. Consumer incomes are rising rapidly and demand for holidays, restaurant meals and financial services is increasing. Country Y is a low income country but it has large reserves of coal and huge fish stocks.





1   Identify and explain two possible reasons for different levels of activity in the business sectors in country X and country Y.


[6]





Student’s answer
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The primary sector produces food and raw materials, the secondary sector manufactures goods and the tertiary sector provides services. [K]


If a country has a lot of fertile land but not many factories it is likely to have a big primary sector and a small secondary sector. [An]


If a country is rich with high incomes consumers will spend a lot on services [K] such as holidays and shopping. [An]
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Examiner’s comments


Defining the three sectors of business activity is a useful starting point.


One factor explaining differences in different countries’ sectors of business activity is identified and explained/analysed – but not applied to countries X or Y.


Same skills are shown in the third paragraph – but also, no application!


Marks: K2; ApO; An2 = 4 in total





2  Do you think that the tertiary sector of business activity will continue to become more important in country X? Justify your answer.


[6]
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Examiner’s tip


Use the information provided and apply it to your answers!
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Student’s answer
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Tertiary sector business activity becomes more important in most rich countries as consumers have more money to spend. [K] Once consumers have satisfied many of their wants such as food, drink, clothing and some luxury products, much of their income is spent on services. [An] These include hairdressing, retail shopping, holidays and financial services. This is the case with country X as ‘consumer incomes are rising rapidly’. [Ap] In addition, country X might be producing fewer primary products because all the timber might be cut and less land is available for food production. [An]
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Examiner’s comments


This answer shows an understanding of why the tertiary sector often grows in importance in most developing and high income countries – this shows skills of both knowledge and analysis.


There is also some application to country X – using the information provided. However, there is no mention made of secondary sector business activity – this could be increasing in country X too if it is still building many factories. This means the student cannot make an effective judgement and also the answer shows no evaluation in answering the question.


Marks: K1 [max]; Ap1 [max]; An2; Ev0 = 4 in total
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Exam-style questions


Jo owns a small shop selling take-away meals in country P which has a mixed economy. The shop is called ‘Best Foods’. She buys in food supplies such as pies and soups from Foodsure, a food-processing business. Most of the meat and vegetables used by Foodsure are supplied by local farmers. They transport their produce to Foodsure and other food-processing businesses on the rail system, which is owned and controlled by the state in country P. Foodsure was recently sold by the government as part of its privatisation programme.





a) What is meant by ‘mixed economy’?


[2]



b) What is meant by ‘privatisation’?


[2]



c) Identify and explain, for any two businesses in the case above, which sector of business activity they operate in.


[4]



d) Identify and explain two possible reasons why the secondary sector is declining in importance in country P.


[6]



e) Do you think that shops such as Best Foods should be in the private sector or public sector of the economy? Justify your answer.


[6]
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3 Enterprise, business growth and size
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Key objectives


The objectives of this chapter are to revise:





•  what an entrepreneur is and what characteristics they have



•  needs of a new business



•  importance of business plans



•  how business size is measured



•  different ways in which businesses can grow and possible problems resulting from growth



•  reasons why some businesses remain small and why some businesses fail.





[image: ]





Key definitions






	Term

	Definition






	Entrepreneur

	Someone who organises, operates and takes the risk for a new business venture.






	Business plan

	The objectives and details of the operations, finance and owners of a new business.






	Capital employed

	The total value of capital used in a business (see page 90 also).






	Internal growth

	The business expands its existing operations, e.g. a retailer opening more shops.






	External growth

	The business expands by merging with or taking over another business.






	Takeover

	A business buys out the owners of another business.






	Merger

	The owners of businesses agree to join their firms together to form one business.






	Horizontal integration

	The business integrates with another in the same industry at the same stage of production – such as two fashion shops.






	Vertical integration

	The business integrates with another in the same industry but at a different stage of production – towards suppliers is backward vertical integration and towards the market/customer is forward vertical integration.






	Conglomerate integration

	The business integrates with another but in a different industry (also known as diversification) – such as an insurance company merging with a food-processing business.







Enterprise and entrepreneurs
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Size of business and business growth
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Common errors






	Error

	Why it is wrong






	‘Business plans guarantee the success of a new business.’

	Business plans can help to reduce risk and uncertainty for new businesses – but nothing can ‘guarantee success’.






	‘Profits are a good way of comparing the size of businesses.’

	Profit levels depend on many factors such as efficiency and effectiveness – but not necessarily the size of a business. Even though two businesses are the same size (e.g. measured by output or numbers employed) profits could be very different.






	‘There is both backward and forward horizontal integration.’

	Horizontal integration is always between businesses at the same stage of production.
Vertical integration can be backwards (towards the supplier) or forward (towards the market).







Sample questions and answers


Yasmin started her own small bakery business last year. She had previously worked for a large bakery. Yasmin works six days a week. She has developed several new recipes for tasty bread and cakes. These are very popular with her customers. Her bank manager loaned her a large amount of money last year after reading her business plan. An old established bakery near to Yasmin’s is currently for sale.
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Examiner’s tips





•  For questions which require evaluation it is important to consider ‘both sides’ of an argument and explain clearly why you are making your conclusion.



•  Read questions carefully and check that your answer is appropriate.
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1  Identify and explain two ways in which Yasmin has contributed to the success of her business.


[6]





Student’s answer
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Yasmin is creative and this is an important characteristic for entrepreneurs. [K] She has thought up some new recipes which are popular with customers. [Ap] If customers buy more bread and cakes from Yasmin her sales and profit will increase. [An]


Yasmin might not have much competition. Low competition will mean that customers will have to buy bread and cakes from her shop. This will make her business more successful.
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Examiner’s comments


This is a good point. The answer identifies one of Yasmin’s characteristics and explains why this has led to the success of her bakery.


The second point is not answering the question because it is not a way in which Yasmin has contributed to the success of her business.


Marks: K1; Ap1; An1 = 3 in total





2  Do you think Yasmin should take over the bakery business that is for sale? Justify your answer.


[6]





Student’s answer
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If Yasmin took over this bakery business it would be horizontal integration [K] as both businesses bake bread and make cakes. [Ap] The takeover would give her a bigger market share and she might be able to buy in materials more cheaply because of bulk buying. This would help to increase the profits of her business. [An]


However, Yasmin’s business is only one year old and she might not have the capital needed to buy the other business. [An] She already has a bank loan. It might be better to repay this than take out another loan to buy the other bakery. [Ev]


I would not advise Yasmin to expand her business at this time. But it depends on her own objectives which I do not know. [Ev]
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Examiner’s comments


This answer is very good. The student has correctly identified and defined horizontal integration. There is an argument in favour of the takeover and an argument against. Both are applied and explained. The recommendation is clear and Yasmin’s objectives are recognised as being important to this decision.


Full marks.
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Exam-style questions


The table below shows data for three shoe manufacturers in 2015.
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Business C has not grown in the last five years. The owner of Business A wants to expand the business externally. The owner of one of his major leather suppliers is retiring and wants to sell the business. Business D, another shoe manufacturer that opened just six months ago, failed recently.





a) Which is the largest business:







    i in terms of sales?


[1]


    ii in terms of capital employed?


[1]








b) What is meant by ‘entrepreneur’?


[2]



c) Identify and explain two possible reasons why Business D recently failed.


[4]



d) Identify and explain two possible reasons why Business C has not grown in recent years.


[6]



e) Do you think Business A should take over the leather supplier? Justify your answer.


[6]





[image: ]








4 Types of business organisation
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Key objectives


The objectives of this chapter are to revise:





•  differences between sole traders and partnerships



•  difference between unincorporated businesses and limited companies



•  difference between private and public limited companies



•  franchises and joint ventures



•  business organisations in the public sector



•  recommending suitable forms of business organisation to business owners.
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Key definitions






	Term

	Definition






	Sole trader

	The business is owned by one person.






	Partnership

	The business is jointly owned by two or more people.






	Limited liability

	The liability of owners/shareholders is limited to the amount invested. Personal possessions are not at risk.






	Incorporated business

	A business with separate legal identity from its owners, e.g. a limited company.






	Unincorporated business

	A business without separate legal identity from its owners, e.g. a sole trader or partnership.






	Private limited company

	A business owned by shareholders but it cannot sell shares to the public.






	Public limited company

	A business owned by shareholders but it can sell shares to the public and its shares are tradable on the Stock Exchange.






	Shareholders

	The owners of a limited company.






	Dividends

	Payments made to shareholders from the profits (after tax) of a company.






	Franchise

	A business that uses, under licence, the brand name, logo and trading methods of an existing business. The franchisor sells the licence; the franchisee buys the licence.






	Joint venture

	Two or more businesses start a new project together sharing capital, risks and profits.






	Public corporation

	A business, in the public sector, that is owned and controlled by the state (government).







Types of business organisation summary
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Common errors






	Error

	Why it is wrong






	‘A sole trader business only employs one person.’

	A sole trader can be quite a large business, employing many people – but it is only owned by one person.






	‘Partnerships can sell shares to raise capital.’

	Only limited companies can sell shares.






	‘Private limited companies do not have shareholders.’

	Yes, they do, and shareholders are a major source of capital for them – but these companies cannot sell shares to the public or trade their shares on the Stock Exchange.






	‘Public limited companies are controlled by shareholders.’
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